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Section-A (2 X 10 Marks)
- N Answer All questions
A voltage or circuit s S T igure
oltage divider circuit supplies reference voltages to various instruments. From Figure 1.

[10]
Obtain the voltage drop across AB, voltage drop across R, voltage drop across Ry, Wi
d‘ro acrn.s.\" BC, voltage drop across R, voltage drop across Ry, voltage drop across Rs.
oy)flcnmnc the total current through the circuit. 1
fi)Vhat would be the equivalent resistance of the circuit? i
X) What would be the colour coding for Ry ? 4
|10 Marks]
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Figure 1
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Q./L/Discuss in detail about the types of errors that are likely to occur in measuring instruments. [6 [10]

Mapks| o ptaonedel | Agdew W\Mlp@-

hy Consider an analog voltmeter to measure a/\ytagc drop of abouy/75 V across a resjstor. The
) /

readjng value in the meter is about 73 V. FindA) Absolute Error i) Relative Error M1) Accuracy
i}ﬂ{;cision value when the mean of measured value is 74.8V. [4 Marks]

Section-B (4 X 15 Marks)

Answer All questions
3 Vﬁlow is the 230V AC input used to charge your mobile phones? What is the type of output? [15]
Explain the functionality involved using a suitable diagram. [12 Marks]|

-
.

fY\ \NJABV\
> -V woatfeunliy

Page 10f 3




Mh‘\\ can a diode be used as a rectifier and as a voltage regulator? Give an example for cach

Marks|
(a) For the MOSFLET amplificr in common source configuration assume Vpyp =16V, Vp=6V, [15)

Vps= 8 V. Ip =5 mA and V;, = 40V with | KHz. [10 Marks|

Detepmine
) The value of Rpy and Rg.

1. The value of R, 1f R~ 150 K€2 and V=12 V.
0! The value of coupling capacitor whose capacitive impedance should be less than 2 KQ.

(0) Draw the circuit diagram

(bf For the circuit shown in figure 2, find the frequency of oscillation and feedback fraction. |§
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ﬁ)m ert the decimal number 6781 to Octal and binary number. [4 Marks] 4*0 0/7‘ [15]

‘y{DraW the truth table for the following logic circuit as depicted in figure 3. |3 Marks]

@,M,@H)

Figure 3 % \&/

\/Dra\v the logic diagram for the Boolean expression (X )’)(X'y')‘\/ Q)XY

expression to minimum possible literals using Boolean algebra. | 8 M:

y{Dcxchbc how displacement can be measured using sensor where the displacement variatjon is ~ {15]
7\ converted as change in clectrostatic potential variation. Explain with a ncat sketch. (8

Myrks]  (labautitie Louwdiuth

J[;xplain why LVDT is preferable in position sensing over other sensing measurements. |7

Marks|
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Section-C (1 X 20 Marks)

Answer All questions /
. : ) ; 2
/‘n Sketch and discuss transistor (BJT) conhiguration which has a£1) Voltage gain less than or [20]

cqual to one. (1) Voltage gain greater than one with 180° phase shift. Mention an application

for Jx.h-“")ﬂl?\'/ / /
%ulxuldlc B Too Tes Vi, ks and Vep in the given circuit as shown in figure 4. The

transistor has Ppe = 183. [10 Marks|

Figure 4




